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of| A& F7 13 (249
b e
: t oot | e [T BEZ ()
T (#H | %= A7HE A B &=
ﬁ%@)aﬂigzgﬂ%{?ﬂl :170,0009 % 170,000
(E%lj:i)f_EEﬂloiﬂ%ﬁf‘r—,%%H] ©300,0004 300,000
géf%ff—ii@%@ﬂ%ﬂﬁﬂl : 2,000,000 2,000,000
2. 71etol 4 8,433 8,228 205
1.8 8| Al zko] A4 8,433 8,228 205
LaestusAdYg = 8,433 8,228 205
1.oEgdudAdd = 8,433 8,228 205| L 5-F A L F2AH] 1 205,000 X 1= 205,000
2. AAF 74,115 55,083 19,032
1. 383 m g9 71,665 53,483 18,182
I R R 71,665 53,483 18,182
1.5 4] 57,663 53,483 4,180
1,349 57,663| 53,483 4,180 S22 H (%) ¢ 1,046,000 x 13= 1,046,000
F2FAN(F) 1 920,000 < 1al= 920,000
AR ZRHYFAHE] ¢ 318,0009 X 11= 318,000
FEFAN (A 3F) ¢ 1,896,0009 X 1= 1,896,000
2.} 738 A g E 10,520 0 10,520
1.4 758w g 10,520 0 10,520 (A FA)E2 w9 © 52,6009 x40 x53] 10,520,000
3. @A G 5] 1,200 0 1,200
1.8dAa 5 1,200 0 1,200 (A H)AFA A 54 150,0009 X 81 = 1,200,000
4.7 7G4 2,282 0 2,282
1.2 3] 2,282 0| 2,8p| (BHAITEIAAN 108, 4086 X3H o559
E*é%ﬁ)%ﬂﬂ?éﬂ%*ﬂ © 110,000 < 17 x 3¢ 330,000
2. YAFDE45Y 2,450 1,600 850
LA BG4 300 300 0
1AM S SR 300 300 0
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1. Aol 2 o 850 0 850
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1. 24k b 850 0 850| Al A3t Z 1 170,000 < 5d)= 850,000
3. 7184 dESFY 1,300 1,300 0
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1.0 444 1,000 1,000 0
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3. 71859 7,854 2,000 5,854
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LeAAd T 7,854 2,000 5,854
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1.2A 7 5,300 5,500 -200
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1. L FEARR- 7,380 7,380 0
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1. gRE81] 2,130 2,330 -200| AgFA 2 -200,0009= -200,000
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2. 353 H] 14,280 0 14,280 éfs iigﬁfﬁ’i%%%%%w] 2,430,000
E*é%}ﬁ)iﬂf;ﬂ%%%%ﬂl 815,000¢1 X 103] 8.150.000
E*é%ﬁ)ﬂ%ﬁ#—ﬂ%ﬂ] 185,000 <2073 3,700,000
3. EA ALY -1 1,120 0 1,120 gig?)oi%aﬂﬂﬂgﬁﬂm 224,000¢ 1,120,000
2.0 A ANEN UGG (E) 5,000 0 5,000
1.&99% 960 0 960| (A HA)ZFALE  240,0009) < 43]= 960,000
2. L& og v 3,690 0 3,690 géflgjﬂ)?&“ﬂ%ﬂﬂ%%?%' 150,000 1,500,000
E*é%ﬁ)iﬂfé%%%%ﬂ] 219,000¢1 X 103} 2.190.000
3. B A1) 350 0 350 géigioi%%@ﬂ%oﬁgﬂﬂ] 87,500 350,000
4.35A QA 10,180 12,330 -2,150
2.7 B3l o 8,380 10,530  -2,150
1.3 uA B A Y 8,080 10,530 -2,450
2.1 ET-94 2,250 4,700|  -2,450|FAFE] -2,300,0009= -2,300,000
Bl E3IPC 2,400,000 = -2,400,000
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